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Weekly IXL assignments

« Will be assigned on Tuesdays
* Due the following Tuesday

* You must score at least 80%



This: weeks- assignment:

Go into the Diagnostic Arena from the Assessments tab.

Start diagnosing to reveal your levels!
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Nice work!
Your diagnostic is currently complete!

&

Reveal your levels

You can continue diagnosing to reveal more recommendations.




Inv. 1.1 Recap

Class Data
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Sample data:

Bridge-Thickness Experiment
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( Does the relationship between the number of layers and the breaking

weight seem to be linear or nonlinear? How do the graph and the table
show this relationship?
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® Suppose you could split layers of paper in half. What breaking weight
would you predict for a bridge 2.5 layers thick? Explain.
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Problem 1.1 Wrap Up
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Sample data: Bridge-Thickness Experiment
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(® Does the relationship between the number of layers and the breaking
weight seem to be linear or nonlinear? How do the graph and the table
show this relationship?

@ Suppose you could split layers of paper in half. What breaking weight
would you predict for a bridge 2.5 layers thick? Explain.
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Problem 1.1 Wrap Up
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Classwork

Page 16, # 2

2. Agroup of students conducted the bridge-thickness experiment with
construction paper. The table below contains their results.

Bridge-Thickness Experiment

Number of Layers 12,3 4 5 6
CICEVOP RV G GEOLIEHE 12 | 20 | 29 | 42 | 52 | 61

a. Make a graph of the (number of layers, breaking weight) data.
Describe the relationship between breaking weight and number
of layers.

b. Suppose itis possible to use half-layers of construction paper.
What breaking weight would you predict for a bridge 3.5 layers
thick? Explain.

c. Predict the breaking weight for a construction-paper bridge of
8 layers. Explain how you made your prediction.



Homework

Finish Classwork



